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ISG_Generater

|ISG_Generater

(k % == 0)
bw.write( )
C h = h < value.size(); h++) {

(rate.get(h) == 08) {
value.set(h, (value.get(h)))
value3.add(value.get(h))
G
a = random.nextInt( )
= pandom.nextInt(rate.get(h))
(a < 5)
b =D>b % -
(bool.get(h)) {
(a <9 1
value.set(h D)
value3.add(®)
i
value.set(h )
value3.add (1)

.
(value.get(h) + b < 0)
value.set(h )

value.set(h (value.get(h) + b))
value3.add(value.get(h) + b)
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ISG_Generater

Frame_ISG_Generater

(t = i < inputVars.getLength(); i++) {
String Variable_name = inputVars.item(i).getAttributes().getNamedItem( ) .getNodeValue()

j = 0; j < inputvars.item(i).getChildNodes().getLength(); j++) {
(inputvars.item(i).getChildNodes().item(j).getNodeName().equals( )) o
( = k < inputVars.item(i).getChildNodes().item(j).getChildNodes().getLength(); k++) {
(inputVars.item(i).getChildNodes().item(j).getChildNodes().item(k).getNodeType() == 1) {
(inputVars.item(i).getChildNodes().item(j).getChildNodes().item(k).getNodeName().equals( A
.put(Variable_name )

initial_value = Integer.toString(random.nextInt(
rate = Integer.toString(random.nextInt( ))
.put(Variable_name

initial value = Integer.toString(random.nextInt(
rate = Integer.toString(random.nextInt( 100))

initial_value 2 rateE
cHE MA
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ISG_Generator

[ijeona—qu—MacBook—Pro:src twblne$ java Frame_ISG_Generator

Frame_Scenario _Generator.Frame Scenario_Generator()
selected pou name = FIX_FALLING
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ISG_Simulation
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ISG_Simulation
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ISG_Simulation
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ISG_Simulation

MCDC Coverage Al &t

HB Ot JtS 8t block=2| Ji=+=E percentage
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ISG_Simulation
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ISG_Model

Current
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ISG_Model

f mutate(crossover, mutation_range = 160):
centeroid = int(len(crossover[0])/2)
idx in range(len{crossover)):
crossover[idx].iloc[centeroid].loc['PV_OUT'] + mutation_range

"N crossover

[mutation &2 1]

mutation(pool_selected):

mut_temp = pool selected

for 1 in range(len(pool_selected)):
count = 1

mut_temp[i].loc[5600+i, ' T'] = np.random.randint(16000, 15000)
mut_temp[i].loc[5600+i+1, 'PV_OUT'] = np.random.randint(10000, 15000)
mut_temp[i] = mut_temp[i].drop(mut_temp[i].index[©:2])

mut_temp[i] = mut_temp[i].fillna(®)

n mut_temp

[mutation &2 2]
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Future plan - ISG_Generater

1. GUIOI CHet Olol & =22 =& — Problem 1.a

A

SG_Simulation & ISG_Modeldt #= =, ISG_Coverage_Data_ManagerE #& ot GUI A,
Ot 8l= BR GUIE & HHZ LI SRAZEREE =8 — Problem 1b, 2.a

3. SimulationZt2 HHE A NUDE E2 s A= 24 - Problem 3.a
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Future plan - ISG_Simulation
1. Output ZEHO CHEH D01 = HA

o

Al Ht 3 IJ| — Problem 1.a

S

—

Toggledt MCDC2| Coverage0fl CHSF OutPut &+ & S Ef B1& — Problem 1.b
Simulationt Model2| &

1 Problem 2.a
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Future plan - ISG_Model

1. 7N eS| mutation 4 0fl linear regression & — Problem 1.a

2. ME8gt Heists g1clEs & — Problem 1.a



